Bigcal Event Energy

301

10F I

=l

5 10

15 20 25 30

fEpsilonHist

-0. .

0 100

200 300 400 500

14

12

10

20

Bigcal Pi0 Event Clusters

x1!
T T T T T T
14
50F
12
40 10
ol 80
60
20r
40
10r bo
1 1 1 1 1 1 o

L Vector

25 30

3.5

Blocks I

T T T T T T
50
40.
=

30 =

-

u

=

20F
10p

1 1 1 1 1 1

5 10 15 20 25 30

D Vector

—1000F

0

100

200 300 400 500

0.2

-0

-0

fMassBiasHist

700F

600F

500F

400F

300p

200F

100}

x10°

0
—10066806606406200 0 2004006008001000

C matrix

1533

p

x1!

35

30

25

20

0

2

JAL

15

10

100 200 300 400 500



	Contents
	Page 1


